EARAROBEEIERT — 2 N— IBISH —F

20195F4H208 (+) 1EIEH3H

1R I

(xwlw | lmEmml - |5 ) oo s

[A~&£] 17 :700,000  ~ 23&:245,000 33 :140,000 @ ~ 4 3 :105,000 @ 5 & :70,000 M

A % E BERR Mk HE %F (FE) s4 L (G&ZE) | BBIER | EOF |SIEH | AS | AE | AU FIR) / BE / £EHS
S o P B . _q-1— _ it =
1 6| XA RNINNEY L H# 10 ;%FO%J 1.(4_8).2 1=1-1-1 | 41.0 9 | 484 i!:fﬁél;u%m (=50
R:TIRATTEIN B xK)—X N EvJILy RT77—L4
X 8 FRMEIER :48. -4-3- 6| — HErhsE ()
A . AE T w7 | 28 Ime | e | Bl
AN/ TYTY BRANAFTSY REE B9
N - 4 23R : -8-8- - BB (BH)
3lglo| €/ 1HF¥ o7 A 1.(428>.6 8-8-8-4 | 40.4 5 (4_946) /J\%ﬁi
R:d—IKF7Ya—)b B:eYF7A KL A HEER
R SEEH . £ o — THEET (FH)
a1l |z=F1r7Ln 5 < 1(/:\1{;53 6-5-3-3 | 40.9 6 (4_479) e
:G7—-3U7> BI-Y>TI30F1 AR
4t g | EEIBGEA 1:49.4 2-2-2-5 |42.0| — 4 526 | MBS (BF)
5i7|7| "&b 5.0 @ o |REZHE
L:T77NTZT BTN FyYy BORMS
7 # 8 | BIIX 1:50.0 3-3-3-7 |42.4| — 1 470 |FTBBE (FH)
6l8lg|FIF hyb—2 56.0 3) (-4) | OB TRIREHCS
R:/RTvyy Bi¥a—bxZ2 HIRBREBHS
N SN KIRAE : ~7-6- - BB (BH)
Y 3 KN AV VA $< "8 | X [ rree ? ffz i
AN w4 =T BNX T — b i&icie ]
AR EE ] —6-6- = #lEsE (&EH)
glslslems/ 70— H 6 ol 1.(551).1 5-6-6-8 | 43.1 7 (5_3; s
RiFrIAMO— BTAHF N#7 7 — L
- Pa— 51, 0-0- 4 - BIRFELE] (B50)
9 JlEa—%7% 46 s 1(15/12>2 9-9-9-9 | 42.4 3 ;1_777) i[m;
R:d7—3IYF7> B:HIea-—% pailz:be ]
@ 1 —F—EBIE
|S=7r= 6,7,8,2,5,1,3,9,4
Ao=5"= 6,7,8,2,1,5,3,9,4
33—7+— |6,7,(1,2,8),(3,5).,9,4
43 —F— 6,2,1,9,7,3,8,5,4
0 LRE
-y 6 5,660 714K 2-6 7,620 P & 2-6 21,300 & 2-6-9 74,8104
7 B 6 1,090 6-9 3,730 B = 2-6 37,570 3E 6-2-9 641,190
2 7204 2-9 1,940 BE 6-2 161,590
9 280M

ABICOVWTRDTEEERROODE. TR LIV,




